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(@) Vout =0.7->0.5(V)
(b) (1) Vout = 0.52>0.7(V)
(2) Vout = X>0.52>0.7(V)
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() D = N(128)% + N
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8.

Cuwire = 0.4*500 = 200 fF
Cagj = 0.2*500 = 100 fF

Rwire = 0.2*500 = 100 Q
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(@)

In this case, because the X and Y change in different direction, the C,gj should be

multiplied by 2.
Ceft = 200f + 100f*2 = 400f

Propagation delay = 1k*10f + (1k + 100)*400f = 450000f = 450p (s)




(b)

In this case, because only X changes, the Cygj is 100f.

Ceft = 200f + 100f = 300f

Propagation delay = 1k*10f + (1k + 100)*300f = 340000f = 340p (s)
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(d)
(1)Shielding.
(2)increasing the load capacitor of .
(3)put the two wire away.
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R,y < 100Q (£ * V)L % & Ron > Rlde— 41

15.
Paynamic = [0-1(20M x 0.6um x 2 fF/;;) + 0.05(80M x 0.2um x 2 fF/y)]

X (0.8)%? x 1 x 10° = 2.56W@1GHz
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